Gang decimaler med 10.100.1000

6,024 x 100 =

1,12 x 100 =

8,928 x 10 =

2,605 x 100 =

8,469 x 1000 =

5,2x10=

9,17 x 100 =

5,815 x 10 =

2,194 x 100 =

10 x 100 =

Dato: Score:

3,25 x10=

6,094 x 1000 =

7,926 x 1000 =

3,574 x 10 =

5,701 x 1000 =

6,283 x 10 =

6,617 x 100 =

3,41 x 100 =

1,447 x 100 =

3,992 x 1000 =
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Gang decimaler med 10.100.1000

6,024 x 100 = 602.4

1,12 x 100 = 112

8,928 x 10 = 89.28

2,605 x 100 = 260.5

8,469 x 1000 = 8469

5,2%10=52

9,17 x 100 =917

5,815 x 10 =58.15

2,194 x 100 =219.4

10 x 100 = 1000

Dato: Score:

3,25 x 10 =325

6,094 x 1000 = 6094

7,926 x 1000 = 7926

3,574 x 10 = 35.74

5,701 x 1000 = 5701

6,283 x 10 = 62.83

6,617 x 100 = 661.7

3,41 x 100 = 341

1,447 x 100 = 144.7

3,992 x 1000 = 3992
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